Maths – Tuesday 2nd March
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When dividing by eleven (11) and twelve (12), it can be easier to partition the number.
So, work out 2 x 10 first, and then 2 x 1 and then add them together to find out what 11 x 2 equals.
Have a go at partitioning the number to work out the answer in the fluency below:


Fluency:
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5 lots of 10 beads = _____________

5 lots of 1 bead = _____________

5 lots of 11 beads = ____________

5 x 10 + 5 x 2 = 5 x 11 = _____________








Challenge:
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I calculated that there will be 88 players. 
Convince me that I am wrong.
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Complete the table.

2 lots of 10 =
2 lots of 2 =
2 lots of 12 =

6x10+6x1=6x11
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Complete the table.

2 lots of 10 =
2 lots of 2 =
2 lots of 12 =

6x10+6x1=6x11
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Use it!
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Use Base 10 to build the 12 times-table. e.g.
FEETTTTTTR B R
USSR W W 3 X 12 =
TR B |

Complete the calculations.

12x5=] s5x122=[] 48+12=[] 84+12=)
2x[ )=120 12x[ =132 [J+12=8 [J=9x12




image8.jpeg




image60.png
Use it!
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There are 11 players on a football team.
7 teams take part in a tournament.
How many players are there altogether in the tournament?
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Convince me!
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There are 11 players on a football team.
7 teams take part in a tournament.
How many players are there altogether in the tournament?




image13.png
Convince me!

>




image1.png
Lockdown

Date 02.03.21
Subjocs Maths
L ing Objective
E,g,% To multiply and divide by 11's (elevens) and,12's (twelves)
SA TA
Q
& | &8

Success Criteria | 1 can answer the pariioning number sentences.

S [N ———————————

T can drow &, describe & and calculate & correctly.

Support Tndependent Adult Support ()
Pre task:

Fillin the blanks.

VOV VVBVD @
LOLLLLLLLOL @

2x10=___ 2x1=___

2 lots of 10 doughnuts = ___ 2 lots of 1doughnut =
2 lots of 11 doughnuts = ____
2X10+2x1=2xN=___
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4 lotsof 10 beads =
4 lotsof 2beads =
4 lotsof 12 beads =___
4x10+4x2=4x12=__
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